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WHERE INDICATED, YOU MUST SHOW THE WORK THAT LEAD TO YOUR ANSWER TO GET FULL CREDIT.

Find the first 4 terms of the sequence defined recursively by a, =1,
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Find a general formula for the arithmetic sequence whose first term is 6 , and whose fourth term is 11.

SHOW YOUR WORK.
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SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
by
T om(m-3)

M2

= o a=2) + B(3-30t g4 -3)+ 5(S-3)
=> 40+ 4+lo
T |

|

\

1-(-1)" .
o SCORE: /3 POINTS
n

SIMPLIFY YOUR ANSWERS. h= | 2 S

5
he2 0 F 6 %

The _F.-'s{' § ferms of Ahe sequence ofofmed Ly

Find the first 5 terms of the sequence defined by a, =
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Fill in the blanks: For thesum ) @, ,  m is called the e "][\ the Summontion . SCORE: L /2 POINTS

k is called the MF_PW L"”""‘{' UF {J(&' {ummaf!b:lnd
LW@‘( (/'*W':'['Lf %Cl-fmmaé"m_

2 is called the
Use si manotat'ontow'tetilesu +3+ ?+15+3I SCORE /3 POINTS
J 1 Il 11 | B . o e i H
’ 4 8 16 32 64 =
n=1. 23 % _§
R ¥ P . < i‘lF
Om=% T T 32



